Practice Test for Ch. 4 Industrial Age

1. New technologies in the steel industry in the late 1800s increased productivity in the
___________________ industry.  (a. automobile b. gasoline c.railroad d. agriculture)

2. Workers at the Homestead Strike were protesting because: ____________________________________________________________________
a. they wanted shorter hours  b. better pay; 
c. more vacation time            d.   plan to have machines replace workers in their jobs
 
3. The invention of the airplane led to increased demand for ___________________ production.
a. electrical supplies        b. oil       c. automobile            d. shipping

4. The labor force change during the Second Industrial Revolution :
a. because machines replaced the jobs of skilled craftspeople
b. because more people were using only their hands to work
c. because all workers were getting paid equally for their pay
 
5. Andrew Carnegie dealt with striking union workers at his Pennsylvania steel factory in 1892 by:
a. giving the workers all a pay raise
b. allowing workers to have a extra week of vacation
c. locking workers out of the factory and hiring strike breakers to work in their place
[bookmark: 2]
6. What was factory specialization in the late 1800s? a. this is when someone does a variety of jobs over and over again.
[bookmark: _GoBack]b. when a worker does the same thing over and over again; causes a worker to be tired, bored, and prone to injury
c. managers paid more attention to working conditions.

True or False:  If the answer is false, please write below why it is false.

7.___________ Collective bargaining is the idea that laborers acting together have greater success in negotiating with management.

8. _____________ The expansion of railroads across the United States led to rapid decline of cities.



9. How did the telegraph differ from the telephone?
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